On the Wiener index of unicyclic graphs with given girth *

Guihai Yu, Lihua Feng
School of Mathematics
Shandong Institute of Business and Technology
191 Binhaizhong Road, Yantai, Shandong, P.R. China, 264005.
Email: fenglh@163.com

Abstract

The Wiener index of a graph G is defined as $W(G) = \sum_{u,v \in V(G)} d_G(u,v)$, where $d_G(u,v)$ is the distance between u and v in G and the sum goes over all the pairs of vertices. In this paper, we investigate the Wiener index of unicyclic graphs with given girth and characterize the extremal graphs with the minimal and maximal Wiener index.

Key words: Unicyclic graph; girth; Wiener index AMS Classifications: 92E10

1 Introduction

In 1947, Harold Wiener introduced the first chemical index, now called the Wiener index, and published a series of papers to show that there are excellent correlations between the Wiener index of the molecular graph of an organic compound and a variety of physical and chemical indices. The Wiener index of a graph G, defined as [9]:

$$W(G) = \sum_{u,v \in V(G)} d_G(u,v),$$

^{*}This paper was supported Foundation of Education Department of Shandong Province (J07YH03), NSFSD(No.Y2006A17, Y2008A04)

where $d_G(u, v)$ is the distance between u and v in G and the sum goes over all the pairs of vertices. An important direction is to determine the graphs with maximal, or minimal Wiener index in a given class of graphs. Up to now, many researchers have investigate the Wiener index ([3]-[4], [6]-[14]).

Next we introduce some graph notations. Let G be a connected graph with vertex set V(G) and edge set E(G). For two distinct vertices x and y in V(G), the distance between x and y is the number of edges in a shortest path joining x and y. The distance of a vertex $x \in V(G)$, denoted by $D_G(x)$, is the sum of distance between x and all other vertices of G. Let G' be the subgraph of G, $D_G(x, G')$ denotes the sum of distances between x and all other vertices of G'. Let $E' \subset E$, we use G - E' to denote the graph obtained from G by deleting the edges in E'. If $e = uv \in E(G)$, we write G - uv instead of $G - \{e\}$. Let C_n and P_n denote the cycle and path with n vertices, respectively. By $L_{n,k}$, we denote the graph obtained from C_k and P_{n-k+1} by identifying a vertex of C_k with one endvertex of P_{n-k+1} . We denote by $H_{n,k}$ the graph obtained from C_k by adding n-k pendant vertices to a vertex of C_k . For other notations in graph theory, we can refer to [2].

A unicyclic graph is a connected graph which has equal vertex number and edge number. Let $\mathcal{U}_{n,k}$ be the set of unicyclic graphs of order $n \geq 3$ with girth $k \geq 3$. For $U_{n,k} \in \mathcal{U}_{n,k}$, if k = n, then $U_{n,k} \cong C_k$; if k = n - 1, then $U_{n,k} \cong L_{n,n-1}$. So in the following, we assume that $3 \leq k \leq n-2$. In this paper, we study the Wiener index of unicyclic graphs with given girth and characterize the extremal graphs. In fact, we get the following results.

Theorem 1.1 Let $U_{n,k} \in \mathcal{U}_{n,k}$ $(3 \le k \le n-2)$ be a unicyclic graph with girth k.

If k is even, then $\frac{k^3}{8} + (n-k)(\frac{k^2}{4} + n - 1) \leq W(U_{n,k}) \leq \frac{k^3}{8} + (n-k)(\frac{n^2+nk+3k-1}{6} - \frac{k^2}{12})$. The left equality holds if and only if $U_{n,k} \cong H_{n,k}$, and the right equality holds if and only if $U_{n,k} \cong L_{n,k}$;

 $H_{n,k}$, and the right equality holds if and only if $U_{n,k} \cong L_{n,k}$; If k is odd, then $\frac{k^3-k}{8} + (n-k)(\frac{k^2-1}{4} + n - 1) \leq W(U_{n,k}) \leq \frac{k^3-k}{8} + (n-k)(\frac{n^2+nk+3k-1}{6} - \frac{k^2}{12} - \frac{1}{4})$. The left equality holds if and only if $U_{n,k} \cong H_{n,k}$, and the right equality holds if and only if $U_{n,k} \cong H_{n,k}$.

Corollary 1.2 Let U be a unicyclic graph of order $n \geq 4$. Then

$$n^2 - n \le W(U) \le \frac{1}{6}(n^3 - 7n + 12).$$

The left equality holds if and only if $U \cong H_{n,3}$, and the right equality holds if and only if $U \cong L_{n,3}$.

2 Lemmas and Results

Lemma 2.1 Let G_0 be a connected graph of order $n_0 > 1$ and $u \in V(G_0)$. Let T be a tree of order $n_1 > 1$ and $v \in V(T)$, $N_T(v) = \{v_1, v_2, \dots, v_s\}$. Let G_1 be the graph obtained from G_0 and T by adding edge uv, $G_2 = G_1 - vv_1 - vv_2 - \dots - vv_s + uv_1 + uv_2 + \dots + uv_s$. Then

$$W(G_1) > W(G_2).$$

Proof. By definition of Wiener index, we have $W(G_1) = \sum_{x,y \in V(G_0)} d_{G_1}(x,y) + \sum_{x \in V(G_0), y \in V(T-v)} d_{G_1}(x,y) + \sum_{x,y \in V(T-v)} d_{G_1}(x,y) + \sum_{x \in V(G_0)} d_{G_1}(x,v) + \sum_{x \in V(T-v)} d_{G_1}(x,v).$ It is easy to see that

$$\begin{split} \sum_{x,y \in V(G_0)} d_{G_1}(x,y) &= \sum_{x,y \in V(G_0)} d_{G_2}(x,y), \\ \sum_{x \in V(G_0), y \in V(T-v)} d_{G_1}(x,y) &= \sum_{x \in V(G_0), y \in V(T')} (d_{G_2}(x,y)+1), \\ \sum_{x,y \in V(T-v)} d_{G_1}(x,y) &= \sum_{x,u \in V(T')} d_{G_2}(x,y), \\ \sum_{x \in V(G_0)} d_{G_1}(x,v) &= \sum_{x \in V(G_0)} d_{G_2}(x,v), \\ \sum_{x \in V(T-v)} d_{G_1}(x,v) &= \sum_{x \in V(T')} (d_{G_2}(x,v)-1), \end{split}$$

where $T' = G_2 - G_0 - v$ is the subgraph of G_2 . So we have

$$= \sum_{x \in V(G_0), y \in V(T-v)} d_{G_1}(x, y) + \sum_{x \in V(T-v)} d_{G_1}(x, v)$$

$$- \sum_{x \in V(G_0), y \in V(T')} d_{G_2}(x, y) - \sum_{x \in V(T')} d_{G_2}(x, v)$$

$$= \sum_{x \in V(G_0), y \in V(T-v)} d_{G_1}(x, y) - \sum_{x \in V(G_0), y \in V(T')} d_{G_2}(x, y)$$

$$+ \sum_{x \in V(T-v)} d_{G_1}(x, v) - \sum_{x \in V(T')} d_{G_2}(x, v))$$

$$= n_0(n_1 - 1) \cdot 1 + (n_1 - 1) \cdot (-1)$$

$$= (n_0 - 1)(n_1 - 1)$$

$$> 0.$$

This implies the result.

Lemma 2.2 [8] Let G_0 be a connected graph and $u_1, u_2 \in V(G_0)$. Let G be the graph obtained from G_0 by attaching k_1, k_2 pendant edges to u_1, u_2 , respectively. Let G_i be the graph obtained by attaching $k_1 + k_2$ pendant edges to u_i (i = 1, 2). Then $W(G_1) < W(G)$, or $W(G_2) < W(G)$.

Lemma 2.3 [7] Let G be a connected graph and $v \in V(G)$. Suppose $G_{s,m}^*$ be the graphs obtained by attaching two paths $P = vv_1 \cdots v_s, Q = vu_1 \cdots u_m$ of lengths $s, m \ (s \ge m \ge 1)$ to G at v. Then $W(G_{s,m}^*) < W(G_{s+1,m-1}^*)$.

By Lemma 2.3, we have the following lemma.

Lemma 2.4 Let G_0 be a connected graph and $u \in V(G_0)$. Assume that G_1 is the graph obtained from G_0 by attaching a tree T of order n_1 to u and G_2 is the graph obtained from G_0 by attaching a path P_{n_1} by its endvertex at u. Then $W(G_1) < W(G_2)$.

Lemma 2.5 [1] Let $uv \in E(G)$ be a cut edge in G, and let G_1 and G_2 be two components of G-uv with $n_1 = |V(G_1)|$ and $n_2 = |V(G_2)|$. Suppose that $u \in V(G_1)$ and $v \in V(G_2)$, then

$$W(G) = W(G_1) + W(G_2) + n_1 D_G(v, G_2) + n_2 D_G(u, G_1) + n_1 n_2.$$

Lemma 2.6 Let G_0 be a unicyclic graph of order $n_0 > 1$ and $u_0, v_0 \in V(G_0)$ be two distinct vertices in G_0 . $P_s = u_1u_2 \cdots u_s$ and $P_t = u_1u_2 \cdots u_s$

 $v_1v_2\cdots v_t$ are two paths of order s and t, respectively. Let G be the graph obtained from G_0, P_s and P_t by adding edges u_0u_1, v_0v_1 . Suppose that $G_1 = G - u_0u_1 + v_tu_1$ and $G_2 = G - v_0v_1 + u_sv_1$. Then either $W(G) < W(G_1)$ or $W(G) < W(G_2)$ holds.

Proof. Let G', G'' be the component containing u_0 and v_0 of $G - u_0u_1, G - v_0v_1$, respectively. For the cut edges $u_0u_1, v_0v_1 \in E(G)$, by Lemma 2.5, we have

$$W(G) = W(G_0) + W(P_s) + W(P_t) + (n_0 + t)D_G(u_1, P_s) + sD_G(u_0, G') + n_0D_G(v_1, P_t) + tD_G(v_0, G_0) + s(n_0 + t) + n_0 \cdot t.$$

For cut edges $v_0v_1, u_0u_1 \in E(G)$, we have

$$W(G) = W(G_0) + W(P_s) + W(P_t) + (n_0 + s)D_G(v_1, P_t) + tD_G(v_0, G'') + n_0D_G(u_1, P_s) + sD_G(u_0, G_0) + t(n_0 + s) + n_0 \cdot s.$$

Similarly, by Lemma 2.5, we can get

$$W(G_1) = W(G_0) + W(P_s) + W(P_t) + (n+t)D_{G_1}(u_1, P_s) + sD_{G_1}(v_t, G') + n_0D_{G_1}(v_1, P_t) + tD_{G_1}(v_0, G_0) + s(n_0 + t) + n_0 \cdot t,$$

 $W(G_2) = W(G_0) + W(P_s) + W(P_t) + (n_0 + s)D_{G_2}(v_1, P_t) + tD_{G_2}(u_s, G'') + n_0D_{G_2}(u_1, P_s) + sD_{G_2}(u_0, G_0) + t(n_0 + s) + n_0 \cdot s.$

It is not difficult to find that

$$D_{G}(u_{0}, G') = D_{G}(u_{0}, G_{0}) + D_{G}(u_{0}, P_{t}),$$

$$D_{G_{1}}(v_{t}, G') = D_{G_{1}}(v_{t}, G_{0}) + D_{G_{1}}(v_{t}, P_{t})$$

$$= D_{G}(v_{0}, G_{0}) + n_{0}t + \sum_{i=1}^{t-1} i,$$

$$D_{G}(v_{0}, G'') = D_{G}(v_{0}, G_{0}) + D_{G}(v_{0}, P_{s}),$$

$$D_{G_{2}}(u_{s}, G'') = D_{G_{2}}(u_{s}, G_{0}) + D_{G_{2}}(u_{s}, P_{s})$$

$$= D_{G}(u_{0}, G_{0}) + n_{0}s + \sum_{i=1}^{s-1} i.$$

$$W(G) - W(G_1) = s \Big(D_G(u_0, G_0) + D_G(u_0, P_t) - D_G(v_0, G_0) - n_0 t - \sum_{i=1}^{t-1} i \Big),$$

$$W(G) - W(G_2) = t \Big(D_G(v_0, G_0) + D_G(v_0, P_s) - D_G(u_0, G_0) - n_0 s - \sum_{i=1}^{s-1} i \Big).$$

If
$$W(G) - W(G_1) \ge 0$$
, then
$$W(G) - W(G_2)$$

$$= t \left(D_G(v_0, G_0) + D_G(v_0, P_s) - D_G(u_0, G_0) - n_0 s - \sum_{i=1}^{s-1} i \right)$$

$$\le t \left(D_G(u_0, P_t) - n_0 t - \sum_{i=1}^{t-1} i + D_G(v_0, P_s) - n_0 s - \sum_{i=1}^{s-1} i \right)$$

$$= t \left(D_G(u_0, P_t) + D_G(v_0, P_s) - n_0 (t+s) - \left(\sum_{i=1}^{t-1} i + \sum_{i=1}^{s-1} i \right) \right)$$

$$= t \left(D_G(v_0, P_t) + tD + D_G(u_0, P_s) + sD - n_0 (t+s) - \left(\sum_{i=1}^{t-1} i + \sum_{i=1}^{s-1} i \right) \right)$$

$$= t \left(\sum_{i=1}^{t} i + \sum_{i=1}^{s} i + (s+t)D - n_0 (t+s) - \left(\sum_{i=1}^{t-1} i + \sum_{i=1}^{s-1} i \right) \right)$$

$$= t (t+s)(1+D-n_0),$$

where D is the distance between u_0 and v_0 in G_0 . Since $D \leq \frac{n_0-1}{2}$, hence

$$W(G) - W(G_2)$$

$$< t(t+s)(1 + \frac{n_0 - 1}{2} - n_0)$$

$$= t(t+s)\frac{1 - n_0}{2}$$

$$< 0.$$

So we complete the proof.

Now we can present the proof of Theorem 1.1.

Proof. (Theorem 1.1) By Lemmas 2.1, 2.2, we can get the left inequalities. By Lemmas 2.3, 2.4 and 2.6, we can get the right inequalities. The computation of $W(H_{n,k})$, $W(C_k)$ and $W(L_{n,k})$ can be found in [5].

$$W(C_k) = \left\{ egin{array}{ll} rac{k^3}{8}, & \mbox{if k is even;} \ rac{k(k^2-1)}{8}, & \mbox{if k is odd.} \end{array}
ight.$$

$$W(H_{n,k}) = \begin{cases} \frac{k^3}{8} + (n-k)(\frac{k^2}{4} + n - 1), & \text{if } k \text{ is even;} \\ \frac{k(k^2-1)}{8} + (n-k)(\frac{k^2-1}{4} + n - 1), & \text{if } k \text{ is odd.} \end{cases}$$

$$W(L_{n,k}) = \begin{cases} \frac{k^3}{8} + (n-k)(\frac{n^2+nk+3k-1}{6} - \frac{k^2}{12}), & \text{if } k \text{ is even;} \\ \frac{k(k^2-1)}{8} + (n-k)(\frac{n^2+nk+3k-1}{6} - \frac{k^2}{12} - \frac{1}{4}), \text{if } k \text{ is odd.} \end{cases}$$

Proof. (Corollary 1.2) If k is odd, from the proof of Theorem 1.1, we have

$$W(H_{n,k}) = n^2 + \frac{1}{4}(k^2 - 4k - 5)n - \frac{k^3}{8} + \frac{9k}{8},$$
$$W(H_{n,3}) = n^2 - 2n.$$

So we have

$$W(H_{n,k}) - W(H_{n,3})$$

$$= \frac{1}{4}(k^2 - 4k + 3)n - \frac{k^2}{8} + \frac{9k}{8}$$

$$\geq \frac{1}{4}(k^2 - 4k + 3)k - \frac{k^2}{8} + \frac{9k}{8}$$

$$= \frac{1}{8}k(k^2 - 8k + 15)$$

$$\geq 0,$$

since $k^2 - 4k + 3 \ge 0$, $k^2 - 8k + 15 \ge 0$ if $k \ge 3$ and k is odd.

Similarly, if k is even, we can get $W(H_{n,k}) \geq W(H_{n,4})$. Note that $W(H_{n,4}) = n^2 - n - 4$, it is easy to see that $W(H_{n,4}) \geq W(H_{n,3})$ for $n \geq 4$. So we have the left inequality.

As above, if k is odd, from the proof of Theorem 1.1, we have

$$W(L_{n,k}) = \frac{1}{6} \left[n^3 + \left(-\frac{3}{2}k^2 + 3k - \frac{5}{2} \right) n + \frac{5}{4}k^3 - 3k^2 + \frac{7k}{24} \right],$$

$$W(L_{n,3}) = \frac{1}{6} (n^3 - 7n + 12).$$

So we get

$$W(L_{n,3}) - W(L_{n,k})$$

$$= \frac{1}{4}(k^2 - 2k - 3)n - \frac{5}{24}k^3 + \frac{1}{2}k^2 - \frac{7k}{24} + 2$$

$$\geq \frac{1}{4}(k^2 - 2k - 3)k - \frac{5}{24}k^3 + \frac{1}{2}k^2 - \frac{7k}{24} + 2$$

$$= \frac{1}{24}(k^3 - 25k + 48)$$

$$\geq 0,$$

the last inequality holds since $k^2 - 2k - 3 \ge 0$, $k^3 - 25k + 48 \ge 0$ if k > 3 and k is odd.

Similarly, if k is even, we can get $W(L_{n,k}) \leq W(L_{n,4})$. Note that $W(L_{n,4}) = \frac{1}{6}(n^3 - 13n + 36)$, it is easy to see that $W(L_{n,4}) \leq W(L_{n,3})$ for $n \geq 4$. So we get the right inequality.

Acknowledgement: The authors are grateful to an anonymous referee for many helpful comments to an earlier version of this paper.

References

- R. Balakrishnan, N. Sridharan, K. V. Iyer, Wiener index of graphs with more than one cut-vertex, Appl. Math. Letter, 21(2008) 922-927.
- [2] J.A. Bondy, U.S.R. Murty, Graph Theory with Applications, Macmillan Press, New York, 1976.
- [3] A. Dobrynin, R. Entringer, I. Gutman, Wiener index of trees: theory and applications, *Acta Appl. Math.* 66 (2001) 211-249.
- [4] A. Dobrynin, I. Gutman, S. Klavžar, P. Žiget, Wiener index of hexagonal systems, Acta Appl. Math. 72 (2002) 247-294.
- [5] I. Gutman, O.E. Polansky, Mathematical Concepts in Organic Chemistry, Springer, Berlin, 1986.
- [6] I. Gutman, J.H. Potgieter, Wiener index and intermolecular forces, J. Serb. Chem. Soc. 62 (1997) 185-192.

- [7] H. Liu, X. Pan, On the Wiener index of trees with fixed diameter, MATCH Commun. Math. Comput. Chem. 60(2008) 85-94.
- [8] H. Liu, M. Lu, A unified approach to cacti for different indices, MATCH Commun. Math. Comput. Chem. 58 (2007) 193-204.
- [9] H. Wiener, Structural determination of paraffin boiling point, J. Amer. Chem. Soc. 69 (1947) 17-20.
- [10] H. Wiener, Vapor presuure-temperature relationships among the branched paraffin hydroarbons, J. Phs. Chem. 52 (1948) 425-430.
- [11] H. Wiener, Correlation of heats of isomerization and differences in heats of vaporization of isomers among the paraffin phydroarbons, J. Amer. Chem. Soc. 69 (1944) 2636-2638.
- [12] H. Wiener, Relation of physical properties of the isomeric alkanes to molecular structure, J. Phys. Chem. 52 (1948) 1082-1089.
- [13] S. Yousefi, A.R. Ashrafi, An exact expression for the Wiener index of a polyhex nanotorus, MATCH Commun. Math. Comput. Chem. 56 (2006) 169-178.
- [14] H. Zhang, S. Xu, Y. Yang, Wiener index of toroidal polyhexes, MATCH Commun. Math. Comput. Chem. 56 (2006) 153-168.